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Q1 Derive a formula for the sector area A
where 0 is in radians

slept : Area of circle = ITRZ
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Area of a triangle c Area= Iz base ✗ height
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Area = Izch
find an expression for h in terms of 0

Sino = tf ⇒ h= bsno

Area= Izbcsino
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answer ⇒m#sin 12¥ )=sn( ¥)
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derive an expression

r for the shaded

region
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lil what is me minimum area of the shaded region

cii ) find the maximum possible area 1 with and

without technology )

Alot = Qzr
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Alert = ¥ ( o - Sho)
0=0 Area= 0

0=4 Area = 1T¥
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Example solve

sin 20=12 o £0121T

4=112

*

sin 20

solution

20 = Siri '( 112)
n is a positive
Integer
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